

Invoice:

Q201754

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67808855

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Oct-05

Scale Site:

Cutting Permit:

Licence:

Timber Mark: K1H420

K1H 420

Cut Block:

2

Summary Type: **Return Category:** Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

57.000 m3

Total Due:

\$36.49

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 4	Α	1	8.000	0.25	2.00			
Cedar	Logs	Grade 2	Α	1	2.000	1.64	3.28			
Cedar	Logs	Grade 4	Α	1	10.000	0.25	2.50			
Hemlock	Logs	Grade 4	Α	1	4.000	0.25	1.00			
Spruce	Logs	Grade 2	Α	1	14.000	1.64	22.96			
Spruce	Logs	Grade 4	Α	1	19.000	0.25	4.75			
Segregations:	6			6	57.000		36.49			

Notations

Reporting Unit: 15849



Invoice:

Q202120

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809223

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

Submitted

Waste

Waste

Original

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-07

Scale Site: Timber Mark:

Licence:

K1H993 K1H

993

Cut Block:

9

Summary Type: Return Category: Kind of Charge: Transaction Type:

Statement Cycle: 2

Total Volume:

Cutting Permit:

50.500 m3

Total Due:

\$55.05

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Aspen	Logs	Grade 2	Α	1	25.000	1.09	27.25			
Balsam	Logs	Grade 2	Α	1	6.000	1.09	6.54			
Birch	Logs	Grade 2	Α	1	3.500	1.09	3.82			
Fir	Logs	Grade 2	Α	1	4.000	1.09	4.36			
Spruce	Logs	Grade 2	Α	1	12.000	1.09	13.08			
Segregations:	5			5	50.500		55.05			

Notations

Reporting Unit: 15849



Invoice:

Q202121

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809224

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-26

Scale Site: Timber Mark:

Licence:

K1H992 K1H

992

Cut Block:

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

73.700 m3

Total Due:

\$83.60

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Fir	Logs	Grade 2	Α	1	17.500	1.23	21.53			
Fir	Logs	Grade 4	Α	1	0.200	0.25	0.05			
Hemlock	Logs	Grade 2	Α	1	4.000	1.23	4.92			
Hemlock	Logs	Grade 4	Α	1	4.000	0.25	1.00			
Spruce	Logs	Grade 2	Α	1	45.000	1.23	55.35			
Spruce	Logs	Grade 4	Α	1	3.000	0.25	0.75			
Segregations: (6			6	73.700		83.60			

1

Notations

Reporting Unit: 15849



Invoice:

Q202122

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809225

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-02

Scale Site: Timber Mark:

Licence:

K1H992 K1H

992

Cut Block:

3

Summary Type: Return Category: Kind of Charge: Transaction Type:

2

Statement Cycle:

Waste Original

Submitted

Waste

Total Volume:

Cutting Permit:

224.000 m3

Total Due:

\$288.88

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	5.000	1.67	8.35		
Cedar	Logs	Grade 2	Α	1	14.000	1.67	23.38		
Fir	Logs	Grade 2	Α	1	70.000	1.67	116.90		
Hemlock	Logs	Grade 2	Α	1	5.000	1.67	8.35		
Hemlock	Logs	Grade 4	Α	1	60.000	0.25	15.00		
Lodge-Pine	Logs	Grade 2	Α	1	10.000	1.67	16.70		
Spruce	Logs	Grade 2	Α	1	60.000	1.67	100.20		
Segregations: 7				7	224.000		288.88		

Notations

Reporting Unit: 15849



Invoice:

00093724 00

Q202123

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809226

MCBRIDE BC V0J 2E0

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-May-29

Scale Site: Timber Mark:

Licence: **Cutting Permit:** K1H992 K1H

992

Cut Block:

4

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle:

2

Total Volume:

250.000 m3

Total Due:

\$275.50

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	120.000	1.67	200.40		
Balsam	Logs	Grade 4	Α	1	100.000	0.25	25.00		
Hemlock	Logs	Grade 2	Α	1	5.000	1.67	8.35		
Spruce	Logs	Grade 2	Α	1	25.000	1.67	41.75		
Segregations:	4			4	250.000		275.50		

Notations

Reporting Unit: 15849



Invoice:

Q202124

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809227

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-12

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H992 K1H

992

Cut Block:

6

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Waste Original

Waste

Submitted

Statement Cycle: 2

Total Volume:

44.000 m3

Total Due:

\$16.88

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	6.000	1.23	7.38		
Balsam	Logs	Grade 4	Α	1	10.000	0.25	2.50		
Cedar	Logs	Grade 4	Α	1	20.000	0.25	5.00		
Spruce	Logs	Grade 4	Α	1	8.000	0.25	2.00		
Segregations:	4			4	44.000		16.88		

Notations

Reporting Unit: 15849



Invoice:

Q202125 Page 1 of 1

Summary Document: 67809228 Issue Date: 2012-Dec-20

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Scaled: Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-May-29

Scale Site: Timber Mark: Licence:

K1H992 K1H

992

Cut Block:

7

Submitted Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

452.000 m3

Total Due:

\$350.14

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Cedar	Logs	Grade 4	Α	1	130.000	0.25	32.50			
Spruce	Logs	Grade 2	Α	1	167.000	1.67	278.89			
Spruce	Logs	Grade 4	Α	1	155.000	0.25	38.75			
Segregations:	3			3	452.000		350.14			

Notations

Reporting Unit: 15849



Invoice:

Q202126

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809229

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-02

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H992 K1H

992

Cut Block:

15

Submitted Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

2

Total Volume:

103.500 m3

Total Due:

\$127.31

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	3.000	1.23	3.69		
Cedar	Logs	Grade 2	Α	1	5.500	1.23	6.77		
Fir	Logs	Grade 2	Α	1	70.000	1.23	86.10		
Hemlock	Logs	Grade 2	Α	1	25.000	1.23	30.75		
Segregations:	4			4	103.500		127.31		

Notations

Reporting Unit: 15849



Invoice:

Q202127 Page 1 of 1

Summary Document: 67809230 Issue Date: 2012-Dec-20

Region Harvested: Southern Interior Forest Region Headwaters Forest District

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Oct-05

Scale Site: Timber Mark:

Licence:

K1H420 K1H

420

Cut Block:

3

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume:

Cutting Permit:

18.500 m3

Total Due:

\$5.76

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Cedar	Logs	Grade 2	Α	1	0.500	2.51	1.26				
Cedar	Logs	Grade 4	Α	1	18.000	0.25	4.50				
Segregations: 2	2			2	18.500		5.76				

Notations

Reporting Unit: 15849



Invoice:

Q202128

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809231

Southern Interior Forest Region

Region Harvested: **Region Scaled:**

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-07

Scale Site: Timber Mark:

Cutting Permit:

Total Volume:

Licence:

K1H991 K₁H

991

Cut Block:

1A

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

296.000 m3

Total Due:

\$454.91

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	217.000	1.55	336.35		
Cedar	Logs	Grade 2	Α	1	13.500	1.55	20.93		
Cedar	Logs	Grade 4	Α	1	3.000	0.25	0.75		
Fir	Logs	Grade 2	Α	1	15.000	1.55	23.25		
Hemlock	Logs	Grade 2	Α	1	2.000	1.55	3.10		
Spruce	Logs	Grade 2	Α	1	45.500	1.55	70.53		
Segregations:	6			6	296.000		454.91		

Notations

Reporting Unit: 15849



Invoice:

Q202129

Issue Date: 2012-Dec-20

Page 1 of 1

Summary Document: 67809232

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-12

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H991 K1H

991

Cut Block:

5

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

33.000 m3

Total Due:

\$8.25

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 4	Α	1	25.000	0.25	6.25				
Cedar	Logs	Grade 4	Α	1	8.000	0.25	2.00				
Segregations:	2			2	33.000		8.25				

Notations

Reporting Unit: 15849



Invoice:

00093724 00

Q202130 Page 1 of 1

Summary Document: 67809233 Issue Date: 2012-Dec-20

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To:

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: 2012-Aug-02 Summary Type: Submitted Scale Site: Waste **Return Category:** Timber Mark: **Cut Block:** Kind of Charge: Waste K1H991 24 Licence: Original K₁H

Transaction Type: **Cutting Permit:** 991 Statement Cycle: 2

Total Volume: 48.000 m3 **Total Due:** \$24.72

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	8.000	1.84	14.72		
Balsam	Logs	Grade 4	Α	1	4.000	0.25	1.00		
Cedar	Logs	Grade 4	Α	1	22.000	0.25	5.50		
Hemlock	Logs	Grade 4	Α	1	14.000	0.25	3.50		
Segregations:	4			4	48.000		24.72		

Notations

Reporting Unit: 15849



Invoice:

Q202131 Page 1 of 1

Summary Document: 67809234 Issue Date: 2012-Dec-20

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: 2012-Aug-07

Scale Site: Timber Mark: **Cut Block:** K1H991

35 K₁H

Licence: **Cutting Permit:** 991

Submitted Summary Type: Waste Return Category: Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 85.000 m3 **Total Due:** \$46.22

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	11.000	2.52	27.72		
Cedar	Logs	Grade 4	Α	1	74.000	0.25	18.50		
Segregations:	2			2	85.000		46.22		

Notations

Reporting Unit: 15849



Invoice:

Q218911 Page 1 of 1

Summary Document: 67882957 Issue Date: 2013-Nov-14

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: Scale Site:

Cutting Permit:

2012-Jun-27

Timber Mark: Licence:

K1H992 K1H

992

Cut Block:

1

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 226.700 m3 **Total Due:** \$41.64

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	7.600	0.00	0.00
Balsam	Logs	Grade 4	Α	1	23.100	0.25	5.78
Birch	Logs	Grade 2	Α	1	10.000	0.00	0.00
Cedar	Logs	Grade 2	Α	1	6.700	0.00	0.00
Cedar	Logs	Grade 4	Α	1	58.600	0.25	14.65
Fir	Logs	Grade 2	Α	1	10.500	0.00	0.00
Fir	Logs	Grade 4	Α	1	35.100	0.25	8.78
Hemlock	Logs	Grade 2	Α	1	3.500	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	25.000	0.25	6.25
Spruce	Logs	Grade 2	Α	1	21.900	0.00	0.00
Spruce	Logs	Grade 4	Α	1	24.700	0.25	6.18
Segregations:	11			11	226.700		41.64

Notations

Reporting Unit: 15849



Invoice:

Q219868

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886161

Southern Interior Forest Region

Region Harvested: **Region Scaled:**

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-07

Scale Site: Timber Mark:

Licence:

K1H991 K₁H

991

Cut Block:

13

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Total Volume:

Cutting Permit:

110.800 m3

Total Due:

\$26.71

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 4	Α	1	3.800	0.25	0.95		
Cedar	Logs	Grade 2	Α	1	4.000	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	89.500	0.25	22.38		
Hemlock	Logs	Grade 4	Α	1	7.500	0.25	1.88		
Spruce	Logs	Grade 4	Α	1	6.000	0.25	1.50		
Segregations:	5			5	110.800		26.71		

Notations

Reporting Unit: 15849



Invoice:

Q219869 Page 1 of 1

Issue Date: 2013-Nov-29

Summary Document: 67886162

MCBRIDE BC V0J 2E0

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-07

Scale Site: Timber Mark:

Licence:

K1H991 K₁H

991

Cut Block:

22

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

391.200 m3

Total Due:

\$82.70

Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Aspen	Logs	Grade 2	Α	1	3.000	0.00	0.00
Aspen	Logs	Grade 4	Α	1	5.000	0.25	1.25
Balsam	Logs	Grade 4	Α	1	104.400	0.25	26.10
Cedar	Logs	Grade 4	Α	1	69.600	0.25	17.40
Spruce	Logs	Grade 2	Α	1	57.400	0.00	0.00
Spruce	Logs	Grade 4	Α	1	151.800	0.25	37.95
Segregations:	6			6	391.200		82.70

Notations

Reporting Unit: 15849



Invoice:

Q219879 Page 1 of 1

Summary Document: 67886172 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: 2012-Aug-08 Scale Site:

Timber Mark: Licence:

Cut Block: K1H991

29

K₁H **Cutting Permit:** 991

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 105.000 m3 **Total Due:** \$57.75

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	15.000	2.35	35.25		
Cedar	Logs	Grade 4	Α	1	90.000	0.25	22.50		
Segregations:	2			2	105.000		57.75		

Notations

Reporting Unit: 15849



Invoice:

Q219894 Page 1 of 1

Summary Document: 67886187 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2012-Oct-06

Timber Mark:

Cutting Permit:

Licence:

K1H420 K1H

420

Cut Block:

1

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 167.300 m3 **Total Due:** \$143.71

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	20.800	1.64	34.11			
Cedar	Logs	Grade 2	Α	1	10.000	1.64	16.40			
Cedar	Logs	Grade 4	Α	1	60.000	0.25	15.00			
Fir	Logs	Grade 2	Α	1	19.000	1.64	31.16			
Hemlock	Logs	Grade 4	Α	1	30.000	0.25	7.50			
Spruce	Logs	Grade 2	Α	1	23.500	1.64	38.54			
Spruce	Logs	Grade 4	Α	1	4.000	0.25	1.00			
Segregations:	7			7	167.300		143.71			

Notations

Reporting Unit: 15849



Invoice:

Q219939 Page 1 of 1

Summary Document: 67886232 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region District Harvested: Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

District Scaled:
Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST CORPORATION PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site: 2013-Oct-02

Timber Mark:

Licence:

K1H993 K1H

993

H993 Cut Block:

10

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle: Submitted Waste Waste Original

2

Total Volume:

Cutting Permit:

181.600 m3

Total Due:

\$40.98

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	5.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	60.000	0.25	15.00			
Cedar	Logs	Grade 2	Α	1	1.700	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	37.300	0.25	9.33			
Hemlock	Logs	Grade 2	Α	1	5.800	0.00	0.00			
Hemlock	Logs	Grade 4	Α	1	24.800	0.25	6.20			
Spruce	Logs	Grade 2	Α	1	5.200	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	41.800	0.25	10.45			
Segregations: 8	8			8	181.600		40.98			

Notations

Reporting Unit: 17776



Invoice:

Q219944

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886237

Region Harvested:

Southern Interior Forest Region

Cut Block:

Region Scaled:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0 **District Harvested:**

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

Invoice To:

2012-May-29

Scale Site:

Timber Mark: K1H993

Licence: K1H **Cutting Permit:** 993

Summary Type: Return Category: Kind of Charge:

Submitted Waste Waste Original

Transaction Type: Statement Cycle: 2

Total Volume: 99.400 m3 **Total Due:**

\$11.43

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	7.600	0.00	0.00				
Balsam	Logs	Grade 4	Α	1	1.800	0.25	0.45				
Cedar	Logs	Grade 2	Α	1	11.700	0.00	0.00				
Fir	Logs	Grade 2	Α	1	27.600	0.00	0.00				
Fir	Logs	Grade 4	Α	1	26.600	0.25	6.65				
Spruce	Logs	Grade 2	Α	1	6.800	0.00	0.00				
Spruce	Logs	Grade 4	Α	1	17.300	0.25	4.33				
Segregations:	7			7	99.400		11.43				

1A

Notations

Reporting Unit: 15849



Invoice:

Q219945 Page 1 of 1

Summary Document: 67886238 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region District Harvested: Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

District Scaled:
Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST CORPORATION PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-May-29

Cut Block:

Scale Site:

Timber Mark: K1H993

Licence: K1H Cutting Permit: 993 Summary Type: Submitted
Return Category: Waste
Kind of Charge: Waste
Transaction Type: Original

Statement Cycle: 2

Total Volume: 127.000 m3 Total Due: \$14.83

1B

Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
						· ,	
Aspen	Logs	Grade 2	Α	1	1.000	0.00	0.00
Balsam	Logs	Grade 2	Α	1	10.600	0.00	0.00
Balsam	Logs	Grade 4	Α	1	2.600	0.25	0.65
Birch	Logs	Grade 2	Α	1	1.000	0.00	0.00
Cedar	Logs	Grade 2	Α	1	20.500	0.00	0.00
Fir	Logs	Grade 2	Α	1	19.600	0.00	0.00
Fir	Logs	Grade 4	Α	1	33.200	0.25	8.30
Spruce	Logs	Grade 2	Α	1	15.000	0.00	0.00
Spruce	Logs	Grade 4	Α	1	23.500	0.25	5.88
Segregations: 9	9			9	127.000		14.83

Notations

Reporting Unit: 15849



Invoice:

Q219946 Page 1 of 1

Summary Document: 67886239 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-13

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H993 K1H

993

Cut Block:

2

Summary Type: Return Category: Kind of Charge: Transaction Type:

Statement Cycle: 2

Submitted

Waste

Waste

Original

Total Volume: 346.500 m3 **Total Due:** \$73.91

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Aspen	Logs	Grade 2	Α	1	1.500	0.00	0.00			
Aspen	Logs	Grade 4	Α	1	2.500	0.25	0.63			
Balsam	Logs	Grade 4	Α	1	96.300	0.25	24.08			
Birch	Logs	Grade 2	Α	1	6.000	0.00	0.00			
Birch	Logs	Grade 4	Α	1	5.200	0.25	1.30			
Cedar	Logs	Grade 4	Α	1	64.200	0.25	16.05			
Spruce	Logs	Grade 2	Α	1	43.400	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	127.400	0.25	31.85			
Segregations:	8			8	346.500		73.91			

Notations

Reporting Unit: 15849



Invoice:

Q219947 Page 1 of 1

Summary Document: 67886240 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-12

Scale Site:

Cutting Permit:

Timber Mark: K1H993 Licence:

Cut Block:

3

K1H 993

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 378.900 m3 **Total Due:** \$71.91

Segregation	egregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Aspen	Logs	Grade 4	Α	1	21.800	0.25	5.45			
Balsam	Logs	Grade 2	Α	1	56.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	138.300	0.25	34.58			
Birch	Logs	Grade 4	Α	1	3.500	0.25	0.88			
Cedar	Logs	Grade 2	Α	1	29.300	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	115.000	0.25	28.75			
Hemlock	Logs	Grade 4	Α	1	3.000	0.25	0.75			
Spruce	Logs	Grade 2	Α	1	6.000	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	6.000	0.25	1.50			
Segregations: 9	9			9	378.900		71.91			

Notations

Reporting Unit: 15849



Invoice:

Q219948

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886241

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-26

Scale Site: Timber Mark:

Licence:

K1H993 K1H

993

Cut Block:

6

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Total Volume:

Cutting Permit:

809.200 m3

Total Due:

\$179.51

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	16.000	0.00	0.00
Balsam	Logs	Grade 4	Α	1	211.000	0.25	52.75
Birch	Logs	Grade 2	Α	1	2.000	0.00	0.00
Birch	Logs	Grade 4	Α	1	1.000	0.25	0.25
Cedar	Logs	Grade 2	Α	1	28.400	0.00	0.00
Cedar	Logs	Grade 4	Α	1	301.300	0.25	75.33
Fir	Logs	Grade 2	Α	1	4.000	0.00	0.00
Fir	Logs	Grade 4	Α	1	26.000	0.25	6.50
Hemlock	Logs	Grade 2	Α	1	5.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	38.100	0.25	9.53
Spruce	Logs	Grade 2	Α	1	35.800	0.00	0.00
Spruce	Logs	Grade 4	Α	1	140.600	0.25	35.15
Segregations:	12			12	809.200		179.51

Notations

Reporting Unit: 15849



Invoice:

Q219949

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886242

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-02

Scale Site: Timber Mark:

Licence:

K1H992

K1H

992

Cut Block:

2

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume:

Cutting Permit:

565.900 m3

Total Due:

\$136.24

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	9.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	141.100	0.25	35.28			
Cedar	Logs	Grade 4	Α	1	249.200	0.25	62.30			
Fir	Logs	Grade 2	Α	1	3.000	0.00	0.00			
Fir	Logs	Grade 4	Α	1	19.500	0.25	4.88			
Hemlock	Logs	Grade 4	Α	1	121.600	0.25	30.40			
Spruce	Logs	Grade 2	Α	1	9.000	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	13.500	0.25	3.38			
Segregations: 8	8			8	565.900		136.24			

Notations

Reporting Unit: 15849



Invoice:

Q219950 Page 1 of 1

Issue Date: 2013-Nov-29

Summary Document: 67886243

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

Submitted

Waste

Waste

2

Original

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-12

Scale Site: Timber Mark:

Cutting Permit:

Total Volume:

Licence:

K1H992 K1H

992

Cut Block:

9

Summary Type: Return Category: Kind of Charge: Transaction Type:

Statement Cycle:

144.100 m3

Total Due:

\$13.11

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	3.800	0.00	0.00
Balsam	Logs	Grade 4	Α	1	10.500	0.25	2.63
Birch	Logs	Grade 2	Α	1	36.900	0.00	0.00
Birch	Logs	Grade 4	Α	1	1.000	0.25	0.25
Cedar	Logs	Grade 2	Α	1	5.200	0.00	0.00
Cedar	Logs	Grade 4	Α	1	28.900	0.25	7.23
Fir	Logs	Grade 2	Α	1	2.000	0.00	0.00
Fir	Logs	Grade 4	Α	1	4.000	0.25	1.00
Hemlock	Logs	Grade 2	Α	1	24.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	5.000	0.25	1.25
Spruce	Logs	Grade 2	Α	1	19.800	0.00	0.00
Spruce	Logs	Grade 4	Α	1	3.000	0.25	0.75
Segregations:	12			12	144.100		13.11

Notations

Reporting Unit: 15849



Invoice:

Q219951 Page 1 of 1

Summary Document: 67886244 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date:

2012-Aug-02

Scale Site: Timber Mark: Licence:

K1H992 K1H

992

Cut Block:

16

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

55.700 m3

Total Due:

\$12.19

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	3.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	14.300	0.25	3.58			
Cedar	Logs	Grade 4	Α	1	15.600	0.25	3.90			
Fir	Logs	Grade 2	Α	1	1.000	0.00	0.00			
Fir	Logs	Grade 4	Α	1	6.500	0.25	1.63			
Hemlock	Logs	Grade 4	Α	1	7.800	0.25	1.95			
Spruce	Logs	Grade 2	Α	1	3.000	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	4.500	0.25	1.13			
Segregations: 8	8			8	55.700		12.19			

Notations

Reporting Unit: 15849



Invoice:

Q219952 Page 1 of 1

Summary Document: 67886245 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2012-Oct-05

Cutting Permit:

Timber Mark: K1H420 Licence:

K1H 420

Cut Block:

1

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume: 952.100 m3 **Total Due:** \$200.23

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	33.000	0.00	0.00
Balsam	Logs	Grade 4	Α	1	202.400	0.25	50.60
Cedar	Logs	Grade 2	Α	1	5.700	0.00	0.00
Cedar	Logs	Grade 4	Α	1	327.200	0.25	81.80
Fir	Logs	Grade 2	Α	1	49.000	0.00	0.00
Fir	Logs	Grade 4	Α	1	91.700	0.25	22.93
Hemlock	Logs	Grade 2	Α	1	22.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	74.200	0.25	18.55
Spruce	Logs	Grade 2	Α	1	41.500	0.00	0.00
Spruce	Logs	Grade 4	Α	1	105.400	0.25	26.35
Segregations:	10			10	952.100		200.23

Notations

Reporting Unit: 15849



Invoice:

Q219953 Page 1 of 1

Summary Document: 67886246 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date:

2012-Jun-26

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H991 K1H

991

Cut Block:

6

Summary Type: Submitted Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 110.700 m3 **Total Due:** \$23.08

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	16.400	0.00	0.00		
Cedar	Logs	Grade 2	Α	1	2.000	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	59.500	0.25	14.88		
Spruce	Logs	Grade 4	Α	1	32.800	0.25	8.20		
Segregations:	4			4	110.700		23.08		

Notations

Reporting Unit: 15849



Invoice:

Q219954

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886247

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-07

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H991 K₁H

991

Cut Block:

12

Summary Type: **Return Category:** Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

324.600 m3

Total Due:

\$65.49

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	43.000	0.00	0.00		
Balsam	Logs	Grade 4	Α	1	81.700	0.25	20.43		
Cedar	Logs	Grade 2	Α	1	13.300	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	143.100	0.25	35.78		
Spruce	Logs	Grade 2	Α	1	6.400	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	37.100	0.25	9.28		
Segregations:	6			6	324.600		65.49		

Notations

Reporting Unit: 15849



Invoice:

Q219955 Page 1 of 1

Summary Document: 67886248 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2012-Jun-26

Timber Mark:

Cutting Permit:

Total Volume:

Licence:

K1H991 K1H

Cut Block:

20

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

991

234.300 m3

Total Due:

\$44.00

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Fir	Logs	Grade 2	Α	1	4.000	0.00	0.00		
Spruce	Logs	Grade 2	Α	1	54.300	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	176.000	0.25	44.00		
Segregations:	3			3	234.300		44.00		

Notations

Reporting Unit: 15849



Invoice:

Q219956 Page 1 of 1

Summary Document: 67886249 Issue Date: 2013-Nov-29

District Scaled:

Region Harvested: Southern Interior Forest Region District Harvested: Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST CORPORATION PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

VICTORIA BC V8W 9C2

Scale Date: Scale Site: 2012-Aug-07

K₁H

991

Timber Mark: Licence:

Cutting Permit:

K1H991 Cu

Cut Block:

29

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume: 197.200 m3 Total Due: \$47.06

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	9.000	0.00	0.00		
Balsam	Logs	Grade 4	Α	1	32.900	0.25	8.23		
Cedar	Logs	Grade 4	Α	1	105.600	0.25	26.40		
Hemlock	Logs	Grade 4	Α	1	25.900	0.25	6.48		
Spruce	Logs	Grade 4	Α	1	23.800	0.25	5.95		
Segregations:	5			5	197.200		47.06		

Notations

Reporting Unit: 15849



Invoice:

Q219957 Page 1 of 1

Summary Document: 67886250 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Jun-26

Scale Site: Timber Mark:

Cutting Permit:

Licence:

K1H991 K1H

991

Cut Block:

37

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume: 58.500 m3 **Total Due:**

\$7.90

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	23.900	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	6.600	0.25	1.65		
Spruce	Logs	Grade 2	Α	1	3.000	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	25.000	0.25	6.25		
Segregations:	4			4	58.500		7.90		

Notations

Reporting Unit: 15849



Invoice:

Q219958 Page 1 of 1

Summary Document: 67886251 Issue Date: 2013-Nov-29

District Scaled:

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: 2012-Jun-26 Summary Type: Submitted Scale Site: Waste **Return Category:** Timber Mark: **Cut Block:** Kind of Charge: Waste K1H991 40

Transaction Type: Original Licence: K1H **Cutting Permit:** 991 Statement Cycle: 2

Total Volume: 12.200 m3 **Total Due:** \$2.50

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Birch	Logs	Grade 2	Α	1	1.000	0.00	0.00		
Cedar	Logs	Grade 2	Α	1	1.200	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	10.000	0.25	2.50		
Segregations:	3			3	12.200		2.50		

Notations

Reporting Unit: 15849



Invoice:

Q219959 Page 1 of 1

Summary Document: 67886252 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To:

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date:

2012-Jun-26

Scale Site:

Timber Mark: K1H991 Licence:

K1H 991

Cut Block:

44

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Statement Cycle:

Submitted Waste Waste Original

2

Cutting Permit:

Total Volume:

21.000 m3

Total Due:

\$3.43

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Spruce	Logs	Grade 2	Α	1	7.300	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	13.700	0.25	3.43		
Segregations:	2			2	21.000		3.43		

Notations

Reporting Unit: 15849



Invoice:

Q219960

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886253

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-02

Scale Site: Timber Mark:

Licence:

K1H993 K1H

Cut Block:

5

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Cutting Permit: 993

Total Volume:

81.900 m3

Total Due:

\$17.45

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	4.000	0.00	0.00		
Balsam	Logs	Grade 4	Α	1	19.800	0.25	4.95		
Cedar	Logs	Grade 2	Α	1	0.300	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	32.000	0.25	8.00		
Hemlock	Logs	Grade 2	Α	1	2.400	0.00	0.00		
Spruce	Logs	Grade 2	Α	1	5.400	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	18.000	0.25	4.50		
Segregations:	7			7	81.900		17.45		

Notations

Reporting Unit: 15849



Invoice:

Q219976

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886269

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-03

Scale Site: Timber Mark:

Licence:

K1H992

K1H

992

Cut Block:

15

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume:

Cutting Permit:

275.400 m3

Total Due:

\$65.91

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	3.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	53.600	0.25	13.40			
Cedar	Logs	Grade 4	Α	1	116.100	0.25	29.03			
Fir	Logs	Grade 2	Α	1	7.300	0.00	0.00			
Fir	Logs	Grade 4	Α	1	1.000	0.25	0.25			
Hemlock	Logs	Grade 2	Α	1	1.500	0.00	0.00			
Hemlock	Logs	Grade 4	Α	1	91.900	0.25	22.98			
Spruce	Logs	Grade 4	Α	1	1.000	0.25	0.25			
Segregations: 8	8			8	275.400		65.91			

Notations

Reporting Unit: 15849



Invoice:

Q219977 Page 1 of 1

Summary Document: 67886270 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: Scale Site:

2012-Jun-14

Timber Mark: Licence:

K1H991 K1H

991

Cut Block:

5

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

1,095.200 m3

Total Due:

\$243.58

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	79.500	0.00	0.00				
Balsam	Logs	Grade 4	Α	1	349.200	0.25	87.30				
Cedar	Logs	Grade 2	Α	1	13.500	0.00	0.00				
Cedar	Logs	Grade 4	Α	1	419.700	0.25	104.93				
Hemlock	Logs	Grade 4	Α	1	9.000	0.25	2.25				
Spruce	Logs	Grade 2	Α	1	27.900	0.00	0.00				
Spruce	Logs	Grade 4	Α	1	196.400	0.25	49.10				
Segregations: 7	7			7	1,095.200		243.58				

Notations

Reporting Unit: 15849



Invoice:

Q219978 Page 1 of 1

Summary Document: 67886271 Issue Date: 2013-Nov-29

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2012-May-28

Timber Mark:

Licence:

K1H992 K1H

992

Cut Block:

4

Submitted Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste

Original 2

Cutting Permit:

Total Volume:

344.100 m3

Total Due:

\$61.93

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	83.400	0.00	0.00				
Balsam	Logs	Grade 4	Α	1	87.400	0.25	21.85				
Cedar	Logs	Grade 4	Α	1	109.400	0.25	27.35				
Fir	Logs	Grade 2	Α	1	2.000	0.00	0.00				
Hemlock	Logs	Grade 4	Α	1	15.000	0.25	3.75				
Spruce	Logs	Grade 2	Α	1	11.000	0.00	0.00				
Spruce	Logs	Grade 4	Α	1	35.900	0.25	8.98				
Segregations: 7	7			7	344.100		61.93				

Notations

Reporting Unit: 15849



Invoice:

Q219979

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886272

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-03

Scale Site:

Total Volume:

Licence:

Timber Mark:

K1H992

K1H

Cut Block:

3

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Cutting Permit: 992

29.500 m3

Total Due:

\$4.14

Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 4	Α	1	1.500	0.25	0.38
Cedar	Logs	Grade 4	Α	1	7.500	0.25	1.88
Fir	Logs	Grade 2	Α	1	13.000	0.00	0.00
Fir	Logs	Grade 4	Α	1	5.000	0.25	1.25
Lodge-Pine	Logs	Grade 4	Α	1	1.000	0.25	0.25
Spruce	Logs	Grade 4	Α	1	1.500	0.25	0.38
Segregations: 6				6	29.500		4.14

Notations

Reporting Unit: 15849



Invoice:

Q219982

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886275

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Sep-26

Scale Site: Timber Mark:

Licence:

K1H993

K1H

993

Cut Block:

9

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

Cutting Permit:

1,345.600 m3

Total Due:

\$471.83

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Aspen	Logs	Grade 2	Α	1	38.400	0.50	19.20			
Aspen	Logs	Grade 4	Α	1	134.200	0.25	33.55			
Balsam	Logs	Grade 2	Α	1	6.700	0.71	4.76			
Balsam	Logs	Grade 4	Α	1	51.400	0.25	12.85			
Birch	Logs	Grade 2	Α	1	8.500	0.50	4.25			
Fir	Logs	Grade 2	Α	1	62.800	0.71	44.59			
Fir	Logs	Grade 4	Α	1	224.600	0.25	56.15			
Lodge-Pine	Logs	Grade 4	Α	1	102.500	0.25	25.63			
Spruce	Logs	Grade 2	Α	1	199.400	0.71	141.57			
Spruce	Logs	Grade 4	Α	1	517.100	0.25	129.28			
Segregations: 10)			10	1,345.600		471.83			

Notations

Reporting Unit: 17776



MCBRIDE COMMUNITY FOREST

Ministry of Forests Piece Scale Invoice

Invoice:

Q219985 Page 1 of 1

Issue Date: 2013-Nov-29

Summary Document: 67886278 Southern Interior Forest Region

Region Harvested:

CORPORATION PO BOX 519

MCBRIDE BC V0J 2E0

Region Scaled: Invoice To:

00135624 00

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Sep-12

Scale Site: Timber Mark:

Licence:

K1H992

K1H

992

Cut Block:

6

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume:

Cutting Permit:

49.000 m3

Total Due:

\$23.60

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	2.900	0.88	2.55			
Balsam	Logs	Grade 4	Α	1	2.000	0.25	0.50			
Birch	Logs	Grade 4	Α	1	0.500	0.25	0.13			
Cedar	Logs	Grade 4	Α	1	20.000	0.25	5.00			
Fir	Logs	Grade 2	Α	1	0.600	0.88	0.53			
Fir	Logs	Grade 4	Α	1	4.500	0.25	1.13			
Hemlock	Logs	Grade 4	Α	1	2.000	0.25	0.50			
Spruce	Logs	Grade 2	Α	1	14.500	0.88	12.76			
Spruce	Logs	Grade 4	Α	1	2.000	0.25	0.50			
Segregations:	9			9	49.000		23.60			

Notations

Reporting Unit: 17776



Invoice:

Q219986 Page 1 of 1

Summary Document: 67886279 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0 BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2013-Aug-14

Timber Mark:

Licence:

K1H992 K1H

992

Cut Block:

10

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume:

Cutting Permit:

117.200 m3

Total Due:

\$98.54

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	38.000	1.23	46.74				
Balsam	Logs	Grade 4	Α	1	2.500	0.25	0.63				
Birch	Logs	Grade 2	Α	1	18.200	0.50	9.10				
Birch	Logs	Grade 4	Α	1	27.000	0.25	6.75				
Cedar	Logs	Grade 2	Α	1	2.000	1.23	2.46				
Cedar	Logs	Grade 4	Α	1	3.000	0.25	0.75				
Spruce	Logs	Grade 2	Α	1	26.000	1.23	31.98				
Spruce	Logs	Grade 4	Α	1	0.500	0.25	0.13				
Segregations:	8			8	117.200		98.54				

Notations

Reporting Unit: 17776



Invoice:

Q220098

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886391

Region Harvested: Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Aug-10

Scale Site: Timber Mark:

Licence:

K1HCP1 K₁H

CP1

Cut Block:

7

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Cutting Permit: Total Volume:

89.400 m3

Total Due:

\$12.13

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	2.400	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	7.500	0.25	1.88			
Birch	Logs	Grade 2	Α	1	3.200	0.00	0.00			
Birch	Logs	Grade 4	Α	1	10.000	0.25	2.50			
Cedar	Logs	Grade 2	Α	1	0.900	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	15.000	0.25	3.75			
Spruce	Logs	Grade 2	Α	1	34.400	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	16.000	0.25	4.00			
Segregations:	8			8	89.400		12.13			

Notations

Reporting Unit: 17776



Invoice:

Q220099

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886392

Southern Interior Forest Region

Region Harvested: **Region Scaled:**

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Sep-11

K₁H CP1

Scale Site: Licence:

Timber Mark: K1HCP1

Cut Block:

8

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

Cutting Permit:

68.200 m3

Total Due:

\$10.10

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	3.000	0.00	0.00
Balsam	Logs	Grade 4	Α	1	7.000	0.25	1.75
Birch	Logs	Grade 4	Α	1	2.000	0.25	0.50
Cedar	Logs	Grade 2	Α	1	5.800	0.00	0.00
Cedar	Logs	Grade 4	Α	1	8.000	0.25	2.00
Fir	Logs	Grade 2	Α	1	8.000	0.00	0.00
Fir	Logs	Grade 4	Α	1	9.000	0.25	2.25
Hemlock	Logs	Grade 2	Α	1	3.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	12.400	0.25	3.10
Spruce	Logs	Grade 2	Α	1	8.000	0.00	0.00
Spruce	Logs	Grade 4	Α	1	2.000	0.25	0.50
Segregations:	11			11	68.200		10.10

Notations

Reporting Unit: 17776



Invoice:

Q220100

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886393

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Aug-13

Scale Site:

Timber Mark: Licence:

K1H992

Cut Block:

10

K1H 992

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

3,657.700 m3

Total Due:

\$733.99

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	51.800	0.00	0.00				
Balsam	Logs	Grade 4	Α	1	708.200	0.25	177.05				
Birch	Logs	Grade 4	Α	1	174.800	0.25	43.70				
Cedar	Logs	Grade 2	Α	1	131.900	0.00	0.00				
Cedar	Logs	Grade 4	Α	1	770.500	0.25	192.63				
Hemlock	Logs	Grade 2	Α	1	411.300	0.00	0.00				
Hemlock	Logs	Grade 4	Α	1	974.500	0.25	243.63				
Spruce	Logs	Grade 2	Α	1	126.800	0.00	0.00				
Spruce	Logs	Grade 4	Α	1	307.900	0.25	76.98				
Segregations: 9	9			9	3,657.700		733.99				

Notations

Reporting Unit: 17776



Invoice:

Q220104

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886397

Region Harvested:

Southern Interior Forest Region

Cut Block:

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Aug-13

892.800 m3

Scale Site:

Total Volume:

Timber Mark: K1H992

Licence: K1H **Cutting Permit:** 992

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Due: \$165.06

Segregation	Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)				
Balsam	Logs	Grade 2	Α	1	34.400	0.00	0.00				
Balsam	Logs	Grade 4	Α	1	98.400	0.25	24.60				
Cedar	Logs	Grade 2	Α	1	47.400	0.00	0.00				
Cedar	Logs	Grade 4	Α	1	303.600	0.25	75.90				
Fir	Logs	Grade 2	Α	1	3.600	0.00	0.00				
Fir	Logs	Grade 4	Α	1	3.000	0.25	0.75				
Hemlock	Logs	Grade 2	Α	1	78.100	0.00	0.00				
Hemlock	Logs	Grade 4	Α	1	151.100	0.25	37.78				
Spruce	Logs	Grade 2	Α	1	69.100	0.00	0.00				
Spruce	Logs	Grade 4	Α	1	104.100	0.25	26.03				
Segregations:	10			10	892.800		165.06				

5

Notations

Reporting Unit: 17776



Invoice:

Q220105 Page 1 of 1

Summary Document: 67886398 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2013-Sep-11

Timber Mark:

Cutting Permit:

Licence:

K1H992 K1H

992

Cut Block:

6

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

1,859.800 m3

Total Due:

\$392.01

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	171.600	0.00	0.00
Balsam	Logs	Grade 4	Α	1	602.400	0.25	150.60
Birch	Logs	Grade 4	Α	1	29.000	0.25	7.25
Cedar	Logs	Grade 2	Α	1	31.700	0.00	0.00
Cedar	Logs	Grade 4	Α	1	411.900	0.25	102.98
Fir	Logs	Grade 2	Α	1	22.700	0.00	0.00
Fir	Logs	Grade 4	Α	1	28.500	0.25	7.13
Hemlock	Logs	Grade 2	Α	1	20.300	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	216.600	0.25	54.15
Spruce	Logs	Grade 2	Α	1	45.500	0.00	0.00
Spruce	Logs	Grade 4	Α	1	279.600	0.25	69.90
Segregations:	11			11	1,859.800		392.01

Notations

Reporting Unit: 17776



Invoice:

Q220106

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886399

Region Harvested:

Southern Interior Forest Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

Cutting Permit:

Total Volume:

2013-Aug-10

Scale Site:

Timber Mark: Licence: K1H

K1H992

233.300 m3

992

Cut Block:

7

Submitted Summary Type: Return Category: Waste Kind of Charge: Transaction Type:

Waste Original

Statement Cycle: 2

Total Due:

\$44.88

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	11.900	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	31.700	0.25	7.93			
Cedar	Logs	Grade 2	Α	1	25.600	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	120.800	0.25	30.20			
Spruce	Logs	Grade 2	Α	1	16.300	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	27.000	0.25	6.75			
Segregations:	6			6	233.300		44.88			

Notations

Reporting Unit: 17776



Invoice:

Q220107 Page 1 of 1

Summary Document: 67886400 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Oct-20

Scale Site: Timber Mark: Licence:

K1H420 K1H

420

Cut Block:

2

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Total Volume:

Cutting Permit:

798.100 m3

Total Due:

\$161.73

Segregation	Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	33.000	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	174.400	0.25	43.60			
Cedar	Logs	Grade 2	Α	1	5.700	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	243.200	0.25	60.80			
Fir	Logs	Grade 2	Α	1	49.000	0.00	0.00			
Fir	Logs	Grade 4	Α	1	77.700	0.25	19.43			
Hemlock	Logs	Grade 2	Α	1	22.000	0.00	0.00			
Hemlock	Logs	Grade 4	Α	1	60.200	0.25	15.05			
Spruce	Logs	Grade 2	Α	1	41.500	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	91.400	0.25	22.85			
Segregations:	10			10	798.100		161.73			

Notations

Reporting Unit: 15849



Invoice:

Q220108 Page 1 of 1

Summary Document: 67886401 Issue Date: 2013-Nov-29

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-08

Scale Site: Timber Mark: Licence:

K1H991 K₁H

991

Cut Block:

35

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume:

Cutting Permit:

55.000 m3

Total Due:

\$12.00

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	5.500	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	48.000	0.25	12.00		
Spruce	Logs	Grade 2	Α	1	1.500	0.00	0.00		
Segregations:	3			3	55.000		12.00		

Notations

Reporting Unit: 15849



Invoice:

Q220109

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886402

Region Harvested:

Southern Interior Forest Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2012-Aug-03

Scale Site: Timber Mark:

Licence:

K1H991 K₁H

991

Cut Block:

24

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Cutting Permit: Total Volume:

226.300 m3

Total Due:

\$37.61

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	74.900	0.00	0.00		
Balsam	Logs	Grade 4	Α	1	0.600	0.25	0.15		
Cedar	Logs	Grade 2	Α	1	1.000	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	84.600	0.25	21.15		
Hemlock	Logs	Grade 4	Α	1	36.500	0.25	9.13		
Spruce	Logs	Grade 4	Α	1	28.700	0.25	7.18		
Segregations:	6			6	226.300		37.61		

Notations

Reporting Unit: 15849



Invoice:

00093724 00

Q220110

Issue Date: 2013-Nov-29

Page 1 of 1

Summary Document: 67886403

Southern Interior Forest Region

Region Harvested: **Region Scaled:**

Invoice To: 00135624 00

District Harvested: District Scaled: Copy To:

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2 MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 MCBRIDE BC V0J 2E0

Scale Date:

2012-Aug-08

817.400 m3

Scale Site: Timber Mark:

Total Volume:

Licence:

K1H991

K₁H

Cut Block:

1A

Submitted Summary Type: Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Cutting Permit: 991

> **Total Due:** \$137.65

Headwaters Forest District

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	42.900	0.00	0.00
Balsam	Logs	Grade 4	Α	1	200.000	0.25	50.00
Birch	Logs	Grade 2	Α	1	4.400	0.00	0.00
Cedar	Logs	Grade 2	Α	1	55.700	0.00	0.00
Cedar	Logs	Grade 4	Α	1	231.000	0.25	57.75
Fir	Logs	Grade 2	Α	1	14.900	0.00	0.00
Fir	Logs	Grade 4	Α	1	9.200	0.25	2.30
Hemlock	Logs	Grade 2	Α	1	59.500	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	59.800	0.25	14.95
Spruce	Logs	Grade 2	Α	1	89.400	0.00	0.00
Spruce	Logs	Grade 4	Α	1	50.600	0.25	12.65
Segregations:	11			11	817.400		137.65

Notations

Reporting Unit: 15849



Invoice:

Q222628

Issue Date: 2013-Dec-17

Page 1 of 1

\$90.84

Summary Document: 67894294

Region Harvested:

Southern Interior Forest Region

Cut Block:

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

MCBRIDE BC V0J 2E0

District Harvested:

Headwaters Forest District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2013-Oct-04

Scale Site:

Timber Mark: K1HCP1

Licence: K₁H CP1 **Cutting Permit:**

Summary Type: Return Category: Kind of Charge:

Submitted Waste Waste Original

Transaction Type: Statement Cycle: 2

Total Due:

Total Volume:

613.400 m3

Segregation	n Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)

1

eegi egatien i	Dotailo						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	40.500	0.00	0.00
Balsam	Logs	Grade 4	Α	1	47.500	0.25	11.88
Cedar	Logs	Grade 2	Α	1	20.600	0.00	0.00
Cedar	Logs	Grade 4	Α	1	63.400	0.25	15.85
Fir	Logs	Grade 2	Α	1	16.800	0.00	0.00
Fir	Logs	Grade 4	Α	1	5.000	0.25	1.25
Hemlock	Logs	Grade 2	Α	1	139.600	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	211.900	0.25	52.98
Spruce	Logs	Grade 2	Α	1	32.600	0.00	0.00
Spruce	Logs	Grade 4	Α	1	35.500	0.25	8.88
Segregations: 10	0			10	613.400		90.84

Notations

Reporting Unit: 17776



Invoice:

Q222718 Page 1 of 1

Summary Document: 67894384 Issue Date: 2013-Dec-17

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

District Scaled:

Scale Date: 2013-Oct-05

Scale Site:

Timber Mark: K1HCP1 **Cut Block:** 1

Licence: K₁H **Cutting Permit:** CP1 Summary Type: Submitted Return Category: Waste Kind of Charge: Waste Transaction Type: Original Statement Cycle: 2

Total Volume: 58.300 m3 **Total Due:** \$33.05

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	5.000	1.06	5.30		
Cedar	Logs	Grade 4	Α	1	14.000	0.25	3.50		
Hemlock	Logs	Grade 2	Α	1	17.000	1.06	18.02		
Hemlock	Logs	Grade 4	Α	1	21.500	0.25	5.38		
Spruce	Logs	Grade 2	Α	1	0.800	1.06	0.85		
Segregations: 5	5			5	58.300		33.05		

Notations

Reporting Unit: 17776



Invoice:

Q223167

Summary Document: 67893449 Issue Date: 2013-Dec-18

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

1

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2007-Jul-31

Scale Site: Timber Mark:

Licence:

K1H969 K₁H

969

Cut Block:

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Submitted Waste Waste Original

2

Statement Cycle:

Total Volume:

Cutting Permit:

26.063 m3

Total Due:

\$0.00

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Spruce	Logs	Grade 2	U	1	6.362	0.00	0.00		
Spruce	Logs	Grade 4	U	1	19.701	0.00	0.00		
Segregations:	2			2	26.063		0.00		

Notations

Replaces interim waste document SDN 67807778 1.78 ha. used Client 2011-2013 averages replaces 2012 TSA waste averages.



Invoice:

Summary Type:

Submitted

Q223168 Page 1 of 1

Summary Document: 67893450 Issue Date: 2013-Dec-18

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00 **District Scaled:** Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2 MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

Scale Date: 2007-Aug-14 Scale Site:

Timber Mark: **Cut Block:** K1H990 1

Return Category: Waste Waste Kind of Charge: Transaction Type: Original Licence: K₁H **Cutting Permit:** 990 Statement Cycle: 2

Total Volume: 2,822.919 m3 **Total Due:** \$0.00

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Spruce	Logs	Grade 2	U	1	689.053	0.00	0.00		
Spruce	Logs	Grade 4	U	1	2,133.866	0.00	0.00		
Segregations:	2			2	2,822.919		0.00		

Notations

Replaces interim waste document SDN 67807779 - 192.796 ha. Client 2011-2013 waste averages replace 2012 TSA averages



Invoice:

Q223169 Page 1 of 1

Summary Document: 67893451 Issue Date: 2013-Dec-18

Region Harvested: Southern Interior Forest Region **District Harvested:** Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date: Scale Site:

2007-Mar-31

Timber Mark:

Licence: **Cutting Permit:** K1H995 K1H

995

Cut Block:

3

Summary Type: Return Category: Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume:

1,012.187 m3

Total Due:

\$0.00

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Spruce	Logs	Grade 2	U	1	247.067	0.00	0.00			
Spruce	Logs	Grade 4	U	1	765.120	0.00	0.00			
Segregations:	2			2	1,012.187		0.00			

Notations

Replaces interim waste document SDN 67807830- 69.129 ha Client 2011 - 2013 waste averages replace 2012 TSA averages.



Invoice:

00093724 00

Q223170 Page 1 of 1

Summary Document: 67893452 Issue Date: 2013-Dec-18

Copy To:

Region Harvested: Southern Interior Forest Region Headwaters Forest District

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 MCBRIDE BC V0J 2E0

District Harvested: District Scaled:

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2007-Mar-31

Scale Site: Timber Mark:

Licence:

K1H999 K₁H

999

Cut Block:

4

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Cutting Permit:

Total Volume:

1,109.498 m3

Total Due:

\$0.00

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Spruce	Logs	Grade 2	U	1	270.820	0.00	0.00		
Spruce	Logs	Grade 4	U	1	838.678	0.00	0.00		
Segregations:	2			2	1,109.498		0.00		

Notations

Replaces interim waste document SDN 67808000 - 75.775 ha. Client 2011-2013 averages used instead of 2012 TSA averages



Invoice:

Q239285

Issue Date: 2014-Dec-15

Page 1 of 1

Summary Document: 67975968

Region Harvested:

Omineca Natural Resource Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-16

Scale Site: Timber Mark:

Licence:

K1HCP1 K₁H

CP1

Cut Block:

3

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Cutting Permit: Total Volume:

31.900 m3

Total Due:

\$6.99

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Aspen	Logs	Grade 4	Α	1	19.500	0.25	4.88			
Balsam	Logs	Grade 4	Α	1	2.800	0.25	0.70			
Fir	Logs	Grade 2	Α	1	0.500	0.00	0.00			
Fir	Logs	Grade 4	Α	1	2.100	0.25	0.53			
Spruce	Logs	Grade 2	Α	1	3.500	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	3.500	0.25	0.88			
Segregations: 6				6	31.900		6.99			

Notations

Reporting Unit: 18844



Invoice:

Q239286 Page 1 of 1

Summary Document: 67975969 Issue Date: 2014-Dec-15

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-16

Scale Site: Timber Mark:

Licence:

K1HCP1 K1H

CP1

Cut Block:

9

Summary Type: Return Category: Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

Submitted

2

Total Volume:

Cutting Permit:

74.500 m3

Total Due:

\$14.58

Segregation Details										
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)			
Balsam	Logs	Grade 2	Α	1	4.700	0.00	0.00			
Balsam	Logs	Grade 4	Α	1	14.800	0.25	3.70			
Cedar	Logs	Grade 2	Α	1	2.500	0.00	0.00			
Cedar	Logs	Grade 4	Α	1	24.000	0.25	6.00			
Hemlock	Logs	Grade 2	Α	1	6.000	0.00	0.00			
Hemlock	Logs	Grade 4	Α	1	15.000	0.25	3.75			
Spruce	Logs	Grade 2	Α	1	3.000	0.00	0.00			
Spruce	Logs	Grade 4	Α	1	4.500	0.25	1.13			
Segregations: 8				8	74.500		14.58			

Notations

Reporting Unit: 18844



Invoice:

Q239287 Page 1 of 1

Summary Document: 67975970 Issue Date: 2014-Dec-15

Region Harvested:

Omineca Natural Resource Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-17

Scale Site: Timber Mark:

Licence:

K1HCP1

K₁H CP1

Cut Block:

9

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Waste Waste Original

Submitted

Statement Cycle: 2

Total Volume:

Cutting Permit:

5.300 m3

Total Due:

\$4.08

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	2.500	1.35	3.38		
Cedar	Logs	Grade 4	Α	1	2.800	0.25	0.70		
Segregations: 2				2	5.300		4.08		

Notations

Reporting Unit: 18844



Invoice:

Q239288 Page 1 of 1

Summary Document: 67975971 Issue Date: 2014-Dec-15

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-17

Scale Site: Timber Mark:

Licence:

K1H450 K1H

450

Cut Block:

1

Summary Type: Submitted Waste Return Category: Waste Kind of Charge: Transaction Type: Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

173.700 m3

Total Due:

\$37.25

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	5.500	0.00	0.00
Balsam	Logs	Grade 4	Α	1	3.000	0.25	0.75
Cedar	Logs	Grade 2	Α	1	7.200	0.00	0.00
Cedar	Logs	Grade 4	Α	1	79.000	0.25	19.75
Hemlock	Logs	Grade 2	Α	1	2.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	66.000	0.25	16.50
Spruce	Logs	Grade 2	Α	1	10.000	0.00	0.00
Spruce	Logs	Grade 4	Α	1	1.000	0.25	0.25
Segregations: 8				8	173.700		37.25

Notations

Reporting Unit: 18844



Invoice:

Q239289

Issue Date: 2014-Dec-15

Page 1 of 1

Summary Document: 67975972

Region Harvested:

Omineca Natural Resource Region

Region Scaled: Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-16

Scale Site: Timber Mark:

Licence: **Cutting Permit:** K1H450 K1H

450

Cut Block:

2

Summary Type: **Return Category:** Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Total Volume:

114.300 m3

Total Due:

\$23.70

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 4	Α	1	18.800	0.25	4.70		
Cedar	Logs	Grade 2	Α	1	2.000	0.00	0.00		
Cedar	Logs	Grade 4	Α	1	29.600	0.25	7.40		
Hemlock	Logs	Grade 2	Α	1	14.800	0.00	0.00		
Hemlock	Logs	Grade 4	Α	1	36.400	0.25	9.10		
Spruce	Logs	Grade 2	Α	1	2.700	0.00	0.00		
Spruce	Logs	Grade 4	Α	1	10.000	0.25	2.50		
Segregations: 7			7	114.300		23.70			

Notations

Reporting Unit: 18844



Invoice:

Q239290 Page 1 of 1

Summary Document: 67975973 Issue Date: 2014-Dec-15

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION**

PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-16

Scale Site: Timber Mark:

Licence: **Cutting Permit:** K1H450 K1H

450

Cut Block:

1

Summary Type: **Return Category:** Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

4.500 m3

Total Due:

\$4.94

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Balsam	Logs	Grade 2	Α	1	3.000	1.52	4.56		
Balsam	Logs	Grade 4	Α	1	1.500	0.25	0.38		
Segregations: 2				2	4.500		4.94		

Notations

Reporting Unit: 18844



Invoice:

Q242054

Issue Date: 2014-Dec-30

Page 1 of 1

Summary Document: 67980259

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-23

Scale Site: Timber Mark:

Licence: **Cutting Permit:** K1HCP1 K1H

CP1

Cut Block:

11

Summary Type: Submitted **Return Category:** Kind of Charge: Transaction Type: Statement Cycle:

Waste Waste Original

2

Total Volume:

2,374.400 m3

Total Due:

\$584.78

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Aspen	Logs	Grade 4	Α	1	655.000	0.25	163.75
Birch	Logs	Grade 2	Α	1	55.200	0.09	4.97
Birch	Logs	Grade 4	Α	1	119.300	0.25	29.83
Cedar	Logs	Grade 2	Α	1	934.000	0.25	233.50
Cedar	Logs	Grade 4	Α	1	245.700	0.25	61.43
Fir	Logs	Grade 2	Α	1	2.000	0.25	0.50
Spruce	Logs	Grade 2	Α	1	205.200	0.25	51.30
Spruce	Logs	Grade 4	Α	1	158.000	0.25	39.50
Segregations: 8			8	2,374.400		584.78	

Notations

Reporting Unit: 18844



Invoice:

Q242055

Issue Date: 2014-Dec-30

Page 1 of 1

Summary Document: 67980260

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-24

Scale Site:

Total Volume:

Licence:

Timber Mark: K1HCP1

K₁H

Cut Block:

11

Summary Type: **Return Category:** Kind of Charge: Transaction Type:

Statement Cycle:

Waste Waste Original

Submitted

2

CP1 **Cutting Permit:**

29.300 m3

Total Due:

\$22.36

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Birch	Logs	Grade 2	Α	1	6.000	0.50	3.00		
Birch	Logs	Grade 4	Α	1	11.000	0.25	2.75		
Cedar	Logs	Grade 2	Α	1	12.300	1.35	16.61		
Segregations: 3				3	29.300		22.36		

Notations

Reporting Unit: 18844



Invoice:

Q242056

Issue Date: 2014-Dec-30

Page 1 of 1

Summary Document: 67980261

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To:

00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-23

Scale Site:

Total Volume:

Timber Mark: K1HCP1

Licence: K1H **Cutting Permit:** CP1

2,124.600 m3

Cut Block:

14

Summary Type: Submitted Waste Return Category: Waste Kind of Charge: Transaction Type: Original Statement Cycle: 2

Total Due:

\$331.20

Segregation	Details						
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)
Balsam	Logs	Grade 2	Α	1	10.000	0.00	0.00
Balsam	Logs	Grade 4	Α	1	25.000	0.25	6.25
Cedar	Logs	Grade 2	Α	1	575.400	0.00	0.00
Cedar	Logs	Grade 4	Α	1	1,199.800	0.25	299.95
Fir	Logs	Grade 2	Α	1	3.400	0.00	0.00
Hemlock	Logs	Grade 2	Α	1	5.000	0.00	0.00
Hemlock	Logs	Grade 4	Α	1	100.000	0.25	25.00
Spruce	Logs	Grade 2	Α	1	206.000	0.00	0.00
Segregations: 8				8	2,124.600		331.20

Notations

Reporting Unit: 18844



Invoice:

Q242057 Page 1 of 1

Summary Document: 67980262 Issue Date: 2014-Dec-30

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To: 00135624 00

MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519 200 ROBSON CENTRE MCBRIDE BC V0J 2E0

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To: 00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2

Scale Date:

2014-Jun-24

Scale Site: Timber Mark:

Licence:

K1HCP1 K₁H

CP1

Cut Block:

14

Summary Type: **Return Category:** Kind of Charge: Transaction Type: Statement Cycle:

Submitted Waste Waste Original

2

Cutting Permit:

Total Volume:

3.000 m3

Total Due:

\$2.95

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 2	Α	1	2.000	1.35	2.70		
Cedar	Logs	Grade 4	Α	1	1.000	0.25	0.25		
Segregations: 2				2	3.000		2.95		

Notations

Reporting Unit: 18844



Invoice:

Q242058

Issue Date: 2014-Dec-30

Page 1 of 1

Summary Document: 67980263

200 ROBSON CENTRE MCBRIDE BC V0J 2E0

Region Harvested:

Omineca Natural Resource Region

Region Scaled:

Invoice To:

00135624 00

District Harvested:

Prince George Natural Resource District

District Scaled:

Copy To:

00093724 00

BRANCH MANAGER, REVENUE BRANCH PO BOX 9511 STN PROV GOVT VICTORIA BC V8W 9C2 MCBRIDE COMMUNITY FOREST **CORPORATION** PO BOX 519

Scale Date:

2014-Jun-23

Scale Site: Timber Mark:

Licence:

K1HCP1

K₁H CP1

Cut Block:

16

Summary Type: Return Category: Kind of Charge: Transaction Type: Submitted Waste Waste Original

Statement Cycle: 2

Total Volume:

Cutting Permit:

102.300 m3

Total Due:

\$25.58

Segregation Details									
Species	Product	Grade	Avoidable	Pieces	Volume (m3)	Rate (\$/m3)	Value (\$)		
Cedar	Logs	Grade 4	Α	1	102.300	0.25	25.58		
Segregations: 1				1	102.300		25.58		

Notations

Reporting Unit: 18844